TEXR I E& B 15325
BAaritst, wHAF, TIEEFERIA300 mm
FitPERIP54

A

o SR

o Bitnd gy IP 54

o [, MARNHSE, BT 100x10° HiRiEs)
o APERIMLT 0.01 mm

o AN, &k £0.05%

o B T %A R

o Ak H L AT B e B R

o N IP 67 FRh, S I TX2 = i Bk

kA Ibw, iR, RETAREEHE, £
AR T, TR R A& 2R S %3, FHlE
BRI AR, 25 LA DL B R S T 28 T
SR EAAE N R, AT ERER T M ER B RS, DI
HE DU T 7 T3 o A ks v AHE 4 T e 3 M8 Sk sz fil / i LR

Hop RO i B2y, Al S A5 5% s BRIR 2 28 Bk % 5 0L
Hofth TEX 7= 5 %8k,

W M

L L&A

%% W

EVAN A (1.4305), WTHERE, M5 MR
Ak Bk

L BRLT SR

R B hr R 2% i R

LA 3 % M8x1 Bl k

3% PUR BRl4E, 3x0.14 mm?, K 2 K8 5%k

novotechnik

Siedle Group

12 204
6104

—AN
©)
®,

_}

U

13

25510,

4] q _EI o
g1\ ~3 )
[@]-
| M5x20
| DINEN S0 4762
<
I
(@] || @]
|
5
af
T
w5 o
1
A B D

M10
M5

0
A

S RATHAHAE: 5 Nm

75

@18




novotechnik

Siedle Group

BEFEY TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX

0010 0025 0050 0075 0100 0125 0150 0175 0200 0250 0300
BSSH BT
AR 10 25 50 75 100 125 150 175 200 250 300 mm
BAFTRE 12 27 52 77 102 130 155 180 205 255 305 mm
R R 1 1 2 3 4 5 6 7 8 10 12 kQ
PR 2 7% 20 +%
S etk 0.25 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 0.05 0.05 +%
LI S°E 3 0.01 mm
HRIE % TR I <1 A
SOHC I IR 8 R P 5 R ML i 10 mA
SRR TR 42 %
i VR S N\ PR A G P R B i 5 ppm/K
# %k B4 (500 VDO) >10 MQ
#8238 % (500 VAC, 50 Hz) <100 A
WS
ShseiIE ) A) 63 78 103 128 153 194 219 244 269 319 369 +2mm
RFFRE O B) 14 29 54 79 104 132 157 182 207 257 307 + 2mm
BFFE LSRN (RS D) 41 41 4 4 4 38 38 +2mm
i
I TEX- __ _ - 41_-002-202 77 82 92 102 112 152 162 172 182 202 222 g
Hrdfid TEX- _ __ - 41_-002-101 45 50 60 70 80 120 130 140 150 170 190 g
HAth & X 10 g
TAEZ T OKFIi) < 8.0 (fE RT =20°C Ii})

N

FESH
AR BE S -40 ... +85 °C
bidrAbriE 5 ... 2000 Hz

Amax = 0.75 mm

amax = 20 g
updibride 50 g

6 ms
F i i >100 x 10° /e
BRKBITHE 10 m/s
iy %5 4% IP54 DIN EN 60529




novotechnik

Siedle Group
s His WSk
%S 101 475 202, 205, 302, 305 EEM 33-64 / -66 / -68 / -65 / -67 / -69
ﬂﬂk_ 1 1 it e
1o :2 i 4 Eite e
“@“? 4 3 S it
3
EEM 33-64 EEM 33-65 EEE%E
EENEEIE
1T W F 4 158 AR Wﬁ&k o 2N EEF
002: &1
o 4/ M5x20 1247
S
101 BEFMExTElF S, i i s
202 NTHE2KHSE, 2l LR
205; NTHRIESKHISE, Rt s }
302: NTHRHE2KHAL, i fi i BRECE s Be A1 R e 1
305: NTHEAESK 4L, HhimHih K2 T AR AR E S
i ISR
T I T T 1T ®T ! ™1 ™11 o] = A A e A A B 4 S 17 9
%31 Wiz EEEmM
1. [

BriE %

TiERRER
0010mm%0300mm, A FlbiifE K i

8: Xz M10 i (150 mmp)

MU
1o A 8 MR AT A M5 B s

4: HRRIFF

HEEREYG (FHMTHE )

PUR M4, 3 £ MSx1 M H23k, 3x0.34 mn,

o 2kdi, HE. EEM33-64, PR E:
o 5kHLZE, MWE. EEM33-66, ftMhmE:
o 10 KH4E, WE. EEM33-68, Mm%
PUR HL45, 4 3%k M8x1 sk, 3x0.34 mm2,
o 2kHLZE, MWE. EEM33-65, ftM4mE:
o 5kHLZ, WE. EEM33-67, FtMimE:
o 10kH4l, WS, EEM33-69, Mi%e:
] 42 B R il H A B Y HL 4

o EREiHsk Z-301-M5/M5 I R
o ERHR$E: Z-GO1 R R

P67, At Bk
005617
005619
005643

P67, A~iff Biilit
005618
005620
005644

058002
056014

TE B 98 72 v Bin 1 1Y 4
JE. MGG, MEkE. b
AP BRLAE Aoy TR X 1
RROERE, RIS TAEE
PLB SRR 2 1E A vi F d H 2%
R R R, FLE R ER
IR (e < 1pA) LIS A,

o WRREHIE TR MAP . HTHES ER
o [FEFEHE MUP .../ MUK ... TA/EWE 24V, fRdElsS4in

AR,
A S TEA,



